Solve: |x|>5

Absolute Value Inequalities

Let k represent a positive real number.
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Solve this Absolute Value Inequality:
[x+5]>11

Where are you on a number line
if you are FARTHER than 11 units from zero?
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Let k represent a positive real number.
I |x| =k is equivalent to x< —korx =k I

You couldsbe more
than 5 units to the

Using a graph: x| > 5 \

When is y=|x| greater than y=5?

y=5

y=1Ix
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Sol: to the left of -5 or to the right of 5
x<-5 or x>5
[x+ 5] > 11
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The graph of y =|x+5| is
above the graph of y=11
to the left of -16 or to
the right of 6.



Could there be only one interval for the solution to  |x| > ?

|X| > 2x +4

Yes, the graph of y=|x| o y=2x+4
is above the graph of y=2x+4
only to the left of the point

of intersection. y=|x|
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The first step is to isolate the Absolute Value
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Solve:  [x] <12

Absolute Value Inequalities

Let k represent a positive real number. 1 2
|x| =k is equivalent to x <= —korx = k.
Im =k is equivalent to -k=x=k I
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Solve this Absolute Value Inequality:

Using agraph:  [x] <12 X+ 5] < 11
/ Where are you on a number line
if you are CLOSER than 11 units from zero?

When is y=|x| less than y=12? y =12

(>——————C  Between-11and 11.
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